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[7. Input Filtering and Phase ;. 40,5,

I Correction Feoture 32
— 24h
Wn‘— - %
b Phase Reference
E From PLL {of)
v, o L: Phase PhaseFrror E‘f‘
MEES e CT or VT | oof Input Samphin E:: High Pass and sl Correctionl
o Imeas Rafio Anti-Aliasing { |tow PassFiter TaPLL
Clack RMS Magnitude |
oc Caleulation —#- Fo Error mpfsﬂer
Synchronization 1 Spring 2013
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1 Synchronization oo 32

® Detect zero crossing of input fundamental
frequency waveform
» Possibly delay by 90 degree to get peak

» Proper delay requires knowledge of actual
system frequency (not the ideal value)

Inputs include phase error (from measuring
circuit and system drift), and base frequency

® Note use of “analog” signals, could do this
digitally as well

Synchronization 2 Spring 2013




